Unit 1 - Motion

Review for Metion and Projectiles

1) Understand three types of motion.. What is the difference between
velacity and acceleration. What are the units for velocity ?
What are the units for acceleration ? How does a meter/sec of
velocity compare to a mile/hour ?
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2) What is the constant velocity, or steady speed equatjon. If youare
traveling at constant velocity what is your number (or mognituele of) for
your acceleration.

Watch out for steady speed problems that involve the speed of sound, .
or speéd of light (Remember you can use v=d/t on traveling waves alsa).

Watch out for v=d/1t problems where the object goes around a circle.
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Watch out for sfeady speed problems where car is going different speeds over
different parts of trip.
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.3) What is the basic acceleration formula (a=Av/t). Be able o apply in
simple situatiens given 2 of the three quantities. Understand the unit
m/s? Watch out for objects slowing down. Watch out for
objects changing direction.
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4) UnWritten simple formula for average velo. \'/-"%L*Always remember
average velacity is like the middle velocity for a speed up or slow down-

trip. o
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5) Warking with the four motian equations for accelerating objects.
Yau can almast always use these instead

i- (Yau need ta remember the ins and auts af these)
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Graphing Motion
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‘7) Velacity (speed), vs. time graphs. You can g;T two things
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Fallihg Bodies

Easy fnllmg bady prnblems and accel. of gravity. (If they give time of
fall, or velncr}’y it has JUST befar it hits iz 2asy)
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éﬁ) Harder falling body problems. (If they anly give. distance of fall)
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_ ) .An object on plar!ef ﬁlphq is drepped from an esironauts hand and falls 2 meters
in 1.2 seconds. Find the acceleration of gravity on planet Alpha. ‘
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)3} Anobject is ’rhr.own doun? wards from a height of 20 meters with an initial velocity
?f 4 nv/s. Explafn why this object will be in the air a shorter time than if it were
Just dropped. Find the objects final velocity and time of fall, :
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' l‘/) What affect does air resistance have on falling objects ?



